6 900

LIOKONBHBLIA 3TAMX

7 000

1
2
3

Fapam -31,740°
MogcoBroe nomewerwe - 847w

NectiuyHan ketka - B40m?

7 800

5900—.‘1\"1‘

|

.T'—‘I SOU—T

NEPBbLIN 3TAX

(5]

1

{1 [ '

1

1 Tambyp - 3.68m°
2 loctwHas - 20,94m%
3 Kyxua-cronosas - 11,70m%
4 Camysen - 343m%
5  NectHwdHan kneTHa - 840m%
6 Teppaca - 14,00m%

\
00

LJ’—ZU

7 800

& 900
6 900

BTOPOW 3TAX

—

| —————JLAITL LRI LTI R AR )
] ELL O LRI

T—1 SI:III—T-

L= R 2

Cnaneus

Canyaen

Kopuaop
Necthnuran ketka
Nopxua

Nogwua

- 26,09m°
- 563m°

- 840w
- 9,03
- 6,847

7 800

-6 900

MAHCAP[HbIN 3TAX

7 000

Do Wk -

[eTcxan komHata
[OeTckas komHaTa
Kopuaop

Canyaen
Knagosan
NecTHuuHan kneTka

12,25m%
12,32m°
3,15m7
4.20m%
7,072
8400




6 900

LIOKOJIbHbIN 3TAX

7 000 /T'
—
| ™~ I
! |
| o
| N
L & 2
[ 1 o
o
0
\ N~
3
1 Fapax - 31,74Mm3

2 [lMopocobHoe nomelwleHue - 8,47m?
3  JlecTHU4YHaga kneTka - 8,40m?



6900

I

Y

T1 500

MEPBbIA 3TAX

7 000

O~ WN =

Tambyp

[locTnHas
KyxHa-cTtonoBagqa
CaHysen
JlecTHn4Hasa kneTka
Teppaca

2000—

7

/1

7800

3,68m2
20,94m2
11,70Mm2
3,43m7
8.,40Mm2
14,00m2




BTOPOW 3TAXK

7 000

~
|\
o
(=]
o
-
N
N~
_\h
=
(|
o
[
U
o
o
D o
o o
(o o]
M~
e T“E \\\ (4]
= v
E“D 2 3
g
e g
)| Pl
1

7‘“1 SOOﬁ“

T

O b WON =

CnanbHSA

CaHy3sen

Kopuaop
JlecTHU4YHasa kneTka
JNokusa

Jopxknsa

- 26,09Mm?

5,63m?
7,69Mm?
8,40Mm?
9,03m?
6,84Mm?




6 900

MAHCAPOHbIN OTAXK

7 000

7

O~ WN =

NeTtckaa komHaTa
IleTckaa komHaTa
Kopungop

CaHysen

KnapoBsas
JlecTHM4YHaga kneTka

Y

7800

-12,25m2
-12,32Mm2
- 3,15Mm?
- 4.,20Mm2
- 7,07m2

8,40m?




	6
	7
	8
	9
	10.pdf

